ppb

H12 )
day -24 <0.01 <0.01 <0.01
-10 0.24 <0.01 <0.01
3 0.10 0.44 0.57
0 thr 232
3hr 183
1 73.6 0.11 1.44 \ 186\
2 103 0.71 1.24 Vo
3 0.23 1.27 : 1.84 :
4 0.56 0.62 \ 067 )
5 24.6 0.29 0.59 \ 218 |
6 116 0.25 0.26 o33
9 0.02 0.04 0.08
12 0.16 0.02 0.07
16 0.08 0.07 0.19
23 <0.01 <0.01 <0.01
38 <0.01 <0.01 <0.01
12.5ha i E
o |
>
147ha
12.5ha

-123 -




12.5ha

dayl dayb

H10 )

day 0( ) <0.1 <0.1 <0.1

2 0.24 <0.1 <0.1

3 0.10 0.10 <0.1

4 0.12 0.10 <0.1
5 0.10 <0.1 \ 010
; 010 o0 | { o10

9 0.10 0.10 <0.1

10 )

13 0.10 <0.1 <0.1

19 <0.1 <0.1 <0.1

30 0.24 <0.1 <0.1

47 <0.1 <0.1 <0.1

62 <0.1 <0.1 <0.1

day
day30
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0.10ppb

120/7.86=15.3

H14
7 <0.05 <0.05 <0.05 <0.05
3 0.08 0.09 0.26 0.41
1 13 3.0 0.10 0.30
7.6 0.52 0.21 0.32
7.1 0.15 0.08 0.26
11 ¢ ) 13 0.21 0.87 15

3.0 1.1 0.16 0.26
2.4 <0.05 0.18 0.21
14 1.7 0.11 <0.05 <0.05
21 0.45 0.14 <0.05 <0.05
39 0.07 0.07 <0.05 <0.05

120ha

x< x<

7.86m’/s 2.76m*/s/100km*

120ha 50/3=16.7

5km
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0.26ppb

0.3ppb

H9

day -29 0.035 ND

-15 0.135 0.02

-1 0.095 0.085

0 0.39 0.08

1 0.215 0.12

3 0.295 0.17

5 0.44 0.16

7 1.015 0.115

10 0.145 0.045

14 0.07 0.03

21 0.055 0.03

28 0.045 ND

42 0.03 ND

70 ND ND
x JJ
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203ha

26.3ha 10km
63.04m’/s 2.49m*/s/100km’
0.5m’/s
day7 day3
day3
0.17ppb
|
day3 day?2
%
0
day4
H6

day 1 <0.15 <0.15 <0.15
2 <0.15 <0.15 <0.15 <0.15

3 <0.15 5.81 <0.15 <0.15

4 <0.15 5.52 <0.15 <0.15

5 <0.15 2.20 0.15 <0.15

7 <0.15 1.54 0.18 <0.15

9 <0.15 1.32 <0.15 <0.15

11 <0.15 2.72 0.69 <0.15
18 <0.15 0.22 <0.15 <0.15
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day4 dayl1l
day?2
dayll
-
day0 day?2 day?2 day?2
day0 T
%
H7,

day -10 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05
-2 <0.05 0.18 <0.05 3.43 0.84
0| 22.0 15.8 3.26 1.04 <0.05 1.11 0.86
1 0.14 14.0 2.69 2.52 <0.05 0.52 0.86
2 <0.05 5.17 3.28 1.78 <0.05 1.61 1.08
3 3.16 2.36 3.02 <0.05 1.32 1.94
6 0.06 3.14 1.49 2.13 0.06 0.90 1.84
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8 <0.05 1.35 0.66 1.02 <0.05 0.28 0.56

10 1.23 0.32 0.60 0.08 0.24 0.36
17 0.28 0.08 0.06 0.06 0.08 <0.05
33 <0.05 <0.05 0.06 0.09 0.05 <0.05
day0  day2
15.8m°/s
78.55m’/s( )
day-2
day-2  dayO

==\

H14

day -3 0.6 0.3 0.7 1.6 0.7
0 1.2 0.3 1.8 3.4 2.3

5 1.2 0.3 0.9 1.4 0.9

8 11 0.8 11 1.0 1.4

12 1.3 0.9 1.8 1.6 2.2

16 1.2 0.6 0.8 1.7 15

20 0.6 0.5 0.9 1.4 0.9
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23 0.5 0.3 0.7 11 0.7
27 0.5 0.3 0.5 0.5 0.6
34 0.2 <0.2 0.4 <0.2 0.2
42 0.4 0.3 0.4 0.5 0.3
52 0.3 0.3 0.3 0.2 0.2
64 0.2 0.2 <0.2 <0.2 <0.2
10,000ha 500ha 1,100ha 1,500ha
day0
day0 day22
|
120km’
13km’ 65%
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